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1.
A wholesaler uses a weighted-rating system for the selection of suppliers. The buyer has established product quality to be most important with a criterion weight of three, service/delivery second with a rating of two, and price to be least important with a weight of one. Which of the following suppliers should the wholesaler choose:
	
	Quality
	Service
	Price

	Supplier 1
	1
	3
	3

	Supplier 2
	2
	2
	2

	Supplier 3
	2
	3
	1

	Supplier 4
	3
	1
	1


A.
Supplier 2 
C.
Supplier 1 
B.
Supplier 3
D.
Supplier 4

 2.
Using the information in the following chart, determine which vendor has the highest overall weighted rating:
	Criterion
	Criterion Weight
	Vendor A
	Vendor B
	Vendor C
	Vendor D

	Criterion 1
	6
	4
	3
	5
	4

	Criterion 2
	5
	5
	4
	4
	4

	Criterion 3
	3
	2
	3
	2
	2

	Criterion 4
	1
	3
	2
	3
	5


A.
Vendor D 
C.
Vendor A 
B.
Vendor B 
D.
Vendor C

 3.
The assets of a company are $400,000; its liabilities are $275,000. What is the net worth of this business?
A.
$125,000 
C.
$625,000
B.
$175,000 
D.
$675,000

 4.
Determine the assets of a business based on the following information: cash of $4,000, accounts receivable of $2,300, inventory of $8,460, equipment worth $3,500, and long-term debt of $12,850.
A.
$5,410 
C.
$16,320
B.
$18,260
D.
$4,980 

 5.
The business had gross sales of $2,780. Six items with a value of $20 each were returned. The manager gave an allowance of $3 each on five other items. What were the business's net sales?
A.
$2,660 
C.
$2,755
B.
$2,645 
D.
$2,915

 6.
A business had gross sales of $275,000 for a six-month period. During that period, the business had sales returns and allowances totaling $12,750 and new purchases of $138,000. What were the business's net sales?
A.
$400,250 
C.
$262,250 
B.
$262,000 
D.
$400,750

 7.
A business expects monthly cash sales to be $5,300 and receivables to be $1,200. Total cost of goods sold will be $1,750, fixed expenses will be $2,150, and variable expenses will be $1,975. Calculate the cash flow.
A.
$625 
C.
$650
B.
$600 
D.
$675

 8.
What is a business's cash flow for the month if it has total cash receipts of $41,250, total cash paid out of $28,500, and assets worth $15,700?
A.
$25,550 
C.
$25,500
B.
$12,800 
D.
$12,750 

 9.
A business's balance sheet lists $4,150 in cash, $12,560 in accounts payable, $2,200 in taxes, $18,475 in machinery and equipment, and $3,025 in interest payable. Calculate the business's total liabilities.
A.
$17,785 
C.
$21,500
B.
$15,150 
D.
$24,535

10.
What is a business's profit or loss if its income statement lists sales revenue of $450,000, cost of goods sold of $180,000, operating expenses of $245,000, and taxes of $14,000?
A.
$12,000 loss 
C.
$10,000 profit
B.
$13,000 loss 
D.
$11,000 profit

11.
Calculate a business's gross profit if its profit-and-loss statement lists revenue of $640,400, cost of goods sold of $380,200, and operating expenses of $145,500.
A.
$114,700 
C.
$340,500
B.
$260,200 
D.
$494,900

12.
A business's budget estimates yearly sales of $735,650. If the business plans to spend 38% of sales on salaries and wages and 24% of sales for other expenses, how much should it budget for total expenses?
A.
$279,547 
C.
$176,556 
B.
$456,103
D.
$529,668

13.
The manager of TAV Corporation used a spreadsheet to calculate the average sales for the previous six months as follows: January $1,250; February $1,100; March $1,800; April $2,350; May $2,110; and June $1,924. Determine the average sales per month for the six-month period.
A.
$1,919.50 
C.
$1,823.76
B.
$1,665.00 
D.
$1,755.67 

14.
A business owner invests $50,000 in another company that has annual sales of $2,500,000 and that pays investors 5% of net profit each year. What amount will the investor lose if the other company goes out of business? 
A.
$75,000 
C.
$50,000 
B.
$125,000 
D.
$100,000 

15.
A business plans to purchase insurance on equipment and property that is valued at $1,250,000. Calculate the yearly premium if the monthly rate is $75 for each $50,000 worth of equipment and property.
A.
$25,000 
C.
$23,250 
B.
$22,500 
D.
$24,750 

16.
Calculate the insurance settlement based on the following information: A business has $175,000 worth of property damage as a result of a recent tornado; the insurance company agrees to pay for 95% of the damage; and the business has a deductible of $1,500. 
A.
$164,750 
C.
$162,500 
B.
$166,250 
D.
$168,000 

17.
Calculate the yearly amount of income tax a business must withhold and report if it has four full-time employees who each earn $3,000 a month and pay a total of 15% in federal and state income tax.
A.
$23,000 
C.
$20,500 
B.
$21,600 
D.
$22,000 

18.
What is the gross amount due on an invoice if the total cost of the items is $94.20, shipping charges are $6.75, and a discount of $4.70 applies?
A.
$100.95 
C.
$96.25
B.
$89.50 
D.
$94.20 

19.
Compute the total of an invoice containing the following items, assuming a 6% sales tax rate and a shipping charge of $55.80:
	Item No.
	Quantity
	Description
	Unit
	Unit Cost

	VR101
	6
	Men's winter scarves
	doz
	$30.00

	DS259
	15
	Leather coats
	each
	$120.00

	GH962
	2
	Valet stands
	each
	$36.00


A.
$2,230.92 
C.
$2,052.00 
B.
$2,175.12 
D.
$2,234.27

20.
A manufacturer ships a $3,725 order to a business in another state. Calculate the amount the business will pay for the order if the shipping charges are $62, FOB manufacturer.
A.
$3,787 
C.
$3,725
B.
$3,699 
D.
$3,663 

21.
An unbranded shirt costs $15.00, while a branded shirt costs $30.00. What is the price ratio between the two products?
A.
2 
C.
1 to 2 
B.
15 to 30 
D.
1/2

22.
Calculate the current market price if a product sells for $15 today, the business offered a 10% discount last week, and the business wants to earn a 20% profit.
A.
$13.50 
C.
$18.00 
B.
$15.00 
D.
$16.50 

23.
Calculate a business's gross profit if it buys $375,000 worth of goods, resells them for $780,500, and pays salespeople $144,250.
A.
$261,250 
C.
$405,500
B.
$315,500 
D.
$543,750

24.
Mary is a bagger at Glen's Market. On a weekly average, she works 30 hours and fills 876 bags of groceries. Her productivity is ___________ bags of groceries per hour.
A.
26.2 
C.
28.6
B.
29.2
D.
22.8 

25.
A business that increases productivity by 2% on sales of $150,000 while expenses remain the same can expect an increase of __________ in total sales.
A.
$1,500 
C.
$3,000
B.
$2,000 
D.
$4,500

26.
Before producing any widgets, a business has total costs of $25,000 that increases to $27,500 when the business produces 1,000 widgets. What is the marginal cost of producing each widget?
A.
$2.75 
C.
$25.00
B.
$2.50 
D.
$27.50

27.
A business borrowed $50,000 at 6% interest to purchase inventory last year and $50,000 at 7.5% interest to purchase inventory this year. How much more interest did the business need to pay to purchase inventory this year than it paid last year?
A.
$550 
C.
$600
B.
$750
D.
$500 

28.
If 2000 is the base year and the cost of the market basket of goods was $1,750, calculate the Consumer Price Index number for 2001 if the same market basket costs $1,802.50.
A.
103 
C.
107.5
B.
102.5 
D.
108

29.
What is the trade surplus if net exports are $8,503,475 and imports are $7,695,430?
A.
$763,555 
C.
$808,045
B.
$795,305 
D.
$850,475

30.
Calculate U.S. gross domestic product using the following information: Honda production in Ohio, $3.5 million; Ford production in Mexico, $3.8 million; wages paid to military personnel, $6.8 million; and Social Security payments to senior citizens, $3.4 million.
A.
$10.3 million 
C.
$14.1 million
B.
$11.8 million 
D.
$17.5 million

31.
If the Consumer Price Index was 126.4 in 2001 and 132.1 in 2002, what is the rate of inflation?
A.
5.7% 
C.
5.1%
B.
4.2% 
D.
4.5% 

32.
If there are 472,350 people in a community's labor force and 18,620 are unemployed, what is the unemployment rate?
A.
3.72% 
C.
4.18%
B.
3.94% 
D.
4.35%

33.
Calculate a nation's trade deficit if it imports $125 billion in goods this year, exports $106 billion in goods, and has a GDP of $178 billion.
A.
$37 billion 
C.
$53 billion
B.
$19 billion 
D.
$72 billion

34.
A business that accepts credit cards pays the bank a discount rate of 2.8% on credit-card sales each month. Calculate the amount the business will owe the bank on last month's credit-card sales of $156,500.
A.
$4,225 
C.
$4,382 
B.
$4,069 
D.
$4,156 

35.
Based on the following information, determine the amount a business will need to finance: purchasing a $245,500 piece of equipment; making a 30% down payment; and negotiating a 6% interest rate. 
A.
$171,850 
C.
$193,250 
B.
$147,300 
D.
$125,600 

36.
A person starting a new business plans to hire three employees to work eight-hour days five days a week at a rate of $14.40 an hour, and two part-time employees to work 20 hours a week at a rate of $11 an hour. Calculate how much start-up money the new owner will need in order to pay salaries for 12 weeks.
A.
$22,440 
C.
$25,280
B.
$26,016
D.
$20,736 

37.
Calculate the start-up monies a business will need based on the following information: $5,400 for three months' rent, $3,750 for furniture and supplies, $825 for utilities for three months, $12,000 in working capital, and wages of $5,500 per month for three months.
A.
$34,500 
C.
$38,475
B.
$33,500 
D.
$27,475 

38.
A business analyzes a database of its 500 regular customers and finds that 78% of them place orders for $350 worth of goods three times a month. Based on this information, calculate the total amount this group spends each month.
A.
$409,500 
C.
$410,300
B.
$405,900 
D.
$413,700

39.
What is the mode in the following example: 5 people eat pizza 1 time a week; 7 people eat pizza 2 times a week; 10 people eat pizza 3 times a week; 8 people eat pizza 4 times a week; and 2 people eat pizza 5 times a week.
A.
2.2 
C.
4
B.
3 
D.
2.5

40.
What is the mean if 24 customers visit a business once a week, 31 customers visit the business twice a week, 42 customers visit the business three times a week, 21 customers visit the business four times a week, and 10 customers visit the business five times a week?
A.
2.1 
C.
2.7
B.
2.4 
D.
2.9

41.
Based on the information in the following frequency table, what percentage of the 500 respondents answered "somewhat satisfied":
	Value Label
	Value Code
	Frequency

	Very Satisfied
	1
	50

	Satisfied
	2
	90

	Somewhat Satisfied
	3
	150

	Somewhat Dissatisfied
	4
	100

	Dissatisfied
	5
	75

	Very Dissatisfied
	6
	35


A.
40% 
C.
35%
B.
25% 
D.
30% 

42.
Based on information in a line chart, how many people thought quality was an issue if 33% of 2,500 respondents thought quality was important and 38 percent thought quality was very important?
A.
1,725 
C.
1,775 
B.
1,750 
D.
1,700 

43.
A business had $815,250 in sales last year and expects an 8% increase this year. What is the sales forecast for the coming year if prices remain the same and the business plans to spend $62,000 remodeling its offices?
A.
$877,250 
C.
$862,140 
B.
$880,470
D.
$895,630

44.
Last year, a business's three salespeople each generated $452,500 in sales. This year, the business hired a fourth salesperson and expects each salesperson to sell 5% more than last year. What amount is the business forecasting in sales this year?
A.
$1,950,500 
C.
$1,810,000 
B.
$1,890,000 
D.
$1,900,500

45.
If sales were $323,000 during a certain period last year, and a 15% increase is expected for the same period this year, what are the expected sales for this year?
A.
$371,450.00 
C.
$323,484.50 
B.
$327,845.00 
D.
$484,500.00

46.
If a business currently has 325 customers who each spend $25,000 a year and develops a marketing plan to increase the number of customers by 8%, by what amount will the business's income increase?
A.
$675,500 
C.
$600,000 
B.
$625,500 
D.
$650,000
47.

Using the information in the following project plan schedule, calculate the number of hours a business is allocating for two people to complete Tasks 2 and 4 during the third week:
	TASK
	Week 1
	Week 2
	Week 3
	Week 4
	Week 5

	1
	10 hrs.
	15 hrs.
	15 hrs.
	25 hrs.
	20 hrs.

	2
	15 hrs.
	30 hrs.
	10 hrs.
	10 hrs.
	15 hrs.

	3
	25 hrs.
	10 hrs.
	35 hrs.
	20 hrs.
	10 hrs.

	4
	30 hrs.
	25 hrs.
	20 hrs.
	25 hrs.
	35 hrs.


A.
35 
C.
30 
B.
25 
D.
40

48.
Based on the following work schedule, determine which employee is working a flextime schedule assuming that each employee has a one-hour lunch:
	Employee
	Mon.
	Tues.
	Wed.
	Thurs.
	Fri.
	Sat.

	Employee A
	7-4
	7-4
	7-4
	7-4
	
	

	Employee B
	8-7
	8-7
	8-7
	8-7
	
	

	Employee C
	8-12
	8-12
	8-12
	8-12
	8-12
	8-12

	Employee D
	8-5
	8-5
	8-5
	8-5
	8-5
	


A.
Employee C 
C.
Employee A 
B.
Employee B 
D.
Employee D

49.
Calculate the amount a business will compensate a salesperson who is paid a base salary of $32,000 plus a 2.5% commission on gross sales if gross sales for the year are $826,750.
A.
$48,535.00 
C.
$54,267.50 
B.
$52,668.75 
D.
$46,320.25 

50.
A business had sales of $40,800 for the year. After paying for the merchandise that it had purchased to resell, the business had $28,400 remaining. This figure is the
A.
revenue. 
C.
gross profit. 
B.
net profit. 
D.
cost of goods sold.

51.
Calculate a business's net profit for last year if it had income from sales of $675,500, operating expenses of $210,000, and cost of goods sold was $305,200.
A.
$160,300 
C.
$370,300
B.
$255,500 
D.
$465,500

52.
A business employee purchases $1,750 worth of office supplies and receives an invoice offering a 2% discount for paying within 15 days. If the employee pays the invoice within that time, the business will save
A.
$40. 
C.
$35. 
B.
$30. 
D.
$50.

53.
If an employee accepts 75 expired coupons worth 50 cents off each month, how much will this cost the business over a period of one year? 
A.
$450 
C.
$400 
B.
$475 
D.
$425 

54.
One type of service contract costs $1,200 per year and can be renewed annually at a $100 increase in price. Another type of contract costs $3,300 for three years. How much will a business save by purchasing the three-year contract rather than renewing the one-year contract?
A.
$100 
C.
$600
B.
$300 
D.
$900

55.
Based on the information in the following chart, which service contract will be least expensive for a business that makes 12,000 copies a year:
	Contract A:
	$600/yr. - 2¢/copy

	Contract B:
	$700/yr. - 1¢/copy

	Contract C:
	$500/yr. - 3¢/copy

	Contract D:
	$400/yr. - 4¢/copy


A.
Contract B 
C.
Contract C
B.
Contract A 
D.
Contract D

56.
A business leases 800 square feet of space for a rate of $2.50 per square foot a month. Next year the rate will increase by 4% per square foot and the business will lease an additional 125 square feet. What will the monthly rent be next year?
A.
$2,000 
C.
$2,250 
B.
$2,405 
D.
$2,615 

57.
A business owner developing an operating budget has determined that total expenses for the year will be $42,500. If the owner wants to have a gross profit of $36,000, what amount of sales should be forecast?
A.
$76,500 
C.
$81,000
B.
$78,500 
D.
$82,000

58.
A business's operating budget plans for $142,500 in sales next month. If the business budgets 75% of that amount for expenses, what will the gross profit be?
A.
$32,775 
C.
$36,500
B.
$35,625 
D.
$39,900

59.
Calculate the amount a business can budget to spend on purchasing new equipment next month if it forecasts cash receipts of $30,000, salaries of $15,500, other operating expenses of $12,250, and income from investments of $1,150.
A.
$3,400 
C.
$4,150
B.
$2,700 
D.
$5,250

60.
Calculate the amount a business's monthly income increased from the amount budgeted based on the following information: budgeted $255,000 in sales with 60% of that amount for expenses compared to actual sales of $295,500 with 65% of that amount spent on expenses.
A.
$1,425 
C.
$1,500
B.
$1,265 
D.
$1,650

61.
A business budgeted $324,500 in sales last month and 45% of that amount for expenses. By what amount did the business's income decrease if actual sales were $336,200 and expenses were 48% of that amount?
A.
$3,651 
C.
$4,336
B.
$2,324 
D.
$5,616

62.
A business decides to buy plain packing boxes rather than boxes that are printed with the business's name in order to control expenses. How much will the business save if it buys 10,000 boxes, and the plain boxes cost $22.50 per hundred and the printed boxes cost $26.75 per hundred?
A.
$465 
C.
$355 
B.
$375 
D.
$425

63.
Calculate the amount a business can save in payroll expenses for a 12-week period by replacing three full-time employees who each earn $550 a week with six part-time employees who each work five hours a day, five days a week for $9.25 an hour.
A.
$3,925 
C.
$3,550
B.
$3,005 
D.
$3,150 

64.
A business with monthly sales of $325,000 increases its cash flow by offering a 2.5% discount for payment within 10 days. Calculate the amount the discount will reduce revenue.
A.
$9,500 
C.
$9,325
B.
$8,250 
D.
$8,125 

65.
What is the total amount of cash outflow if a business buys $8,500 worth of goods for resale this month and negotiates with the vendor to pay 65% of that amount in 60 days?
A.
$5,525 
C.
$5,100
B.
$2,550 
D.
$2,975 

66.
A business's total debt is $325,000 and its total assets amount to $850,000. Calculate the business's debt ratio.
A.
38% 
C.
42%
B.
33% 
D.
45%

67.
A business's profit-and-loss statement indicates sales of $50,000, expenses of $10,000, and cost of goods sold of $30,000. What is the amount of gross profit?
A.
$20,000 
C.
$30,000
B.
$10,000 
D.
$40,000

68.
A business had net sales of $17,540 for the month. The cost of goods sold was $6,950, and operating expenses were $3,930. The net profit for the month is
A.
$20,560. 
C.
$13,610.
B.
$10,590. 
D.
$6,660. 

69.
What company has the highest sales-to-receivables ratio based on the following information: Company A has sales of $250,000 and accounts receivable of $20,000; Company B has sales of $275,000 and accounts receivable of $25,000; Company C has sales of $300,000 and accounts receivable of $30,000; and Company D has sales of $290,000 and accounts receivable of $32,000.
A.
Company A 
C.
Company C
B.
Company B 
D.
Company D

70.
A business plan calls for monthly sales of 1,400 widgets to achieve the yearly goal. If each of the three salespeople are expected to sell one-third of that amount, how many widgets does each salesperson need to sell in a year?
A.
6,400 
C.
6,100
B.
5,200 
D.
5,600 

71.
When developing a business plan, an entrepreneur analyzed the amount of capital that would be needed to operate the business for the first three months. If the total amount of capital needed is $150,000, what amount will the entrepreneur need to obtain from other sources if family members will invest 60% of that amount and the entrepreneur will invest $25,000?
A.
$40,000 
C.
$75,000 
B.
$60,000 
D.
$35,000 

72.
Using the cost-based method for setting prices, determine the final price to the consumer if a business purchases a product for $75, has expenses of $21 per product, and wants to earn a profit of $43 per product.
A.
$139 
C.
$121
B.
$118 
D.
$96 

73.
A business purchases an item with a list price of $75.00. A trade discount of 20% and full freight allowance apply to the sale. The item will cost the business
A.
$75.00. 
C.
$70.00.
B.
$65.00. 
D.
$60.00. 

74.
A product has a list price of $98.00, and the purchaser receives a quantity discount of 10% and a cash discount of 15%. What is the final cost of the product to the purchaser?
A.
$74.97 
C.
$83.30
B.
$73.50 
D.
$88.20

75.
Calculate the amount of a business's total fixed costs from the following information: mortgage payments $15,000; sales promotion $5,500; utilities $3,600; employees' wages $80,000; owner's salary $60,000; insurance $2,900; and cost of goods $125,000.
A.
$87,000 
C.
$81,500 
B.
$161,500
D.
$286,500

76.
Calculate the break-even point in dollars given the following information:
	Total fixed costs
	$180,000

	Unit selling price
	$200

	Variable cost per unit
	$120


A.
$180,380 
C.
$360,000
B.
$270,000 
D.
$450,000

77.
An item with a list price of $535 is subject to chain discounts of 15%, 10%, and 5%. Its invoice price is
A.
$374.50. 
C.
$454.75.
B.
$388.81. 
D.
$535.00.

78.
A business purchased 100 items for $435.00 with a 10% quantity discount and invoice terms of 2/15, n/60. If the business pays the invoice 45 days after the invoice date, how much will the business owe?
A.
$370.00 
C.
$435.00
B.
$426.30 
D.
$391.50 

79.
A business lowers the base price of a product by distributing 100,000 $5-off coupons. Calculate the cost to the business if 71,342 coupons are redeemed.
A.
$356,170 
C.
$357,115
B.
$356,710 
D.
$357,165

80.
What is the adjusted base price of a $300 product shipped from New York to Los Angeles based on the following information: $10 per $100 value from New York throughout the eastern half of the country, and an additional $2.50 per $100 value for shipment to the western half of the country.
A.
$330.00 
C.
$325.00 
B.
$337.50
D.
$345.50

81.
On June 20, a business buys $5,750 worth of widgets that will cost $325 to ship and negotiates the following terms with the vendor: 2/15, net 30, FOB origin. What will the price of the widgets be if the business pays the bill on July 3?
A.
$5,635 
C.
$5,960
B.
$5,750 
D.
$6,075

82.
An airline company offers the following round-trip rates from New York to Miami: $159 for ages 2-11, $205 for adults, and $174 for ages 65+. Calculate the price for a family of three adults, one 10-year-old, and two 68-year-old grandparents.
A.
$1,205 
C.
$1,122 
B.
$1,159 
D.
$1,274

83.
An item that cost $46.40 sells for $58.00. What is the markup percentage based on the selling price?
A.
80% 
C.
25%
B.
2% 
D.
20% 

84.
A cruise line sells a four-night cruise for $650 per person double occupancy, but decides to offer a promotional price to increase sales. What will the price be for two people sharing one cabin if the first passenger receives a 10% discount and the second passenger is half price?
A.
$875 
C.
$950 
B.
$910 
D.
$880 

85.
In order to clear out some slow sellers, a business reduced the price of $38.00 by 15%. What is the new price of these items?
A.
$35.80 
C.
$34.20
B.
$31.50 
D.
$32.30 

86.
An advertiser spent $117,000 for 12 television spots with a total of 240 GRPs (gross rating points). What was the cost per GRP?
A.
$487.50 
C.
$712.50
B.
$585.50 
D.
$975.50

87.
What would be the cost of a 20-column-inch newspaper display advertisement if the rate is $12 per column inch, the business wants the advertisement in a specific location, and there is a 10% charge for preferred position?
A.
$216 
C.
$260
B.
$240 
D.
$264

88.
Calculate the cost per thousand if a business pays $4,000 for a 30-second television advertisement that is viewed by 50,000 people.
A.
$60 
C.
$80
B.
$75 
D.
$90

89.
If 6,000 people are exposed to two television commercials and 4,000 people are exposed to 12 magazine ads, what is the frequency?
A.
10 
C.
8
B.
4 
D.
6 

90.
The Marshall Company contracted for 1,000 column inches of advertising space at $95 per inch. During the contract year, however, the company ran only 700 inches. If the rate for 700 inches is $100 per inch, what is the short rate due?
A.
$2,550 
C.
$3,600
B.
$3,500 
D.
$5,850

91.
A business budgets 7% of sales for promotional activities. If the business had sales this year of $850,500 and expects a 5% increase in sales next year, how much will it budget for promotions?
A.
$66,976.25 
C.
$57,425.50 
B.
$59,535.00 
D.
$62,511.75

92.
The XYZ Company negotiates co-op advertising with a national manufacturer that agrees to pay 60% of the company's advertising costs. Calculate what the manufacturer will contribute if the company purchases $43,500 worth of newspaper advertising and $78,250 in magazine advertising.
A.
$73,050 
C.
$74,265
B.
$71,830 
D.
$75,485

93.
How much money will a co-op advertising arrangement save a business if it buys $258,500 worth of magazine advertising and a manufacturer agrees to pay 45% of the cost?
A.
$142,175 
C.
$125,850
B.
$103,400 
D.
$116,325 

94.
What will a business spend if its promotional plan calls for buying three radio spots for $225 each, one TV ad for $990, four newspaper ads for $85 each, and two magazine ads for $345 each?
A.
$2,965 
C.
$2,845
B.
$2,525 
D.
$2,695 

95.
Manually calculate the amount of sales tax on the following purchase: A customer buys taxable products totaling $48.50. The sales tax rate is 7%.
A.
$3.41 
C.
$3.38 
B.
$3.39 
D.
$3.40

96.
Cal Jones ordered a pair of pants and a shirt from Outdoor Outfitters. The pants cost $39.95, and the shirt cost $27.95. There is a $2.50 shipping charge, and the sales tax rate is 6%. What is the total of Cal's order?
A.
$67.90 
C.
$74.47
B.
$71.97 
D.
$74.62

97.
The ACT Company charges 2% of an item's pre-tax price for COD delivery. If the business delivers goods that cost $15,650, how much is the COD charge?
A.
$311  
C.
$315 
B.
$313  
D.
$320 

98.
Calculate the following sales information: A customer purchased 3.5 pounds of an item at a price of $4.79 per pound, one item at $15.75, four items at $5.59 each, and one item at 3 for $10.00. What is the total of the order if there is a 6.50% sales tax on all items?
A.
$58.21 
C.
$61.99
B.
$58.22 
D.
$62.00

99.
A salesperson earns 5% commission on the sale of Product A and 8% commission on the sale of Product B. Calculate the total amount of commission if the salesperson sells $46,850 worth of Product A and $29,625 worth of Product B.
A.
$4,965.20 
C.
$4,296.80 
B.
$4,682.60 
D.
$4,712.50

100.
Based on the following statistics in a sales report, which territory achieved at least 97% of monthly quota:
	Territory
	Sold
	Quota of

	North
	$508,735
	$525,500

	South
	$512,260
	$530,000

	East
	$514,850
	$535,750

	West
	$506,645
	$520,250


A.
South Territory 
C.
East Territory
B.
West Territory
D.
North Territory 

1.
B
Supplier 3. Quality, service, and price were assigned points. Each point is then multiplied by the value assigned according to each supplier's ability to satisfy the wholesaler, and Supplier 3 had the highest number of points.

	
	Quality
	Service
	Price
	Total

	Supplier 1
	1 x 3 = 3
	3 x 2 = 6
	3 x 1 = 3
	12

	Supplier 2
	2 x 3 = 6
	2 x 2 = 4
	2 x 1 = 2
	12

	Supplier 3
	2 x 3 = 6
	3 x 2 = 6
	1 x 1 = 1
	13

	Supplier 4
	3 x 3 = 9
	1 x 2 = 2
	1 x 1 = 1
	12


SOURCE:
BA:010
SOURCE:
Lewison, D.M. (1997). Retailing (6th ed.) [pp. 427-428]. Upper Saddle River, NJ: Prentice Hall.

 2.
D
Vendor C. When using the weighted-rating method to choose vendors, businesses assign a number value to each criterion and rate the vendors based on their ability to perform the criteria. The vendor's score for each criterion is computed by multiplying the value of the criterion by the performance rate. Vendor C received a rating of 5 for Criterion 1 which has a value of 6 for a total of 30 (6 x 5 = 30); a 4 for Criterion 2 which has a value of 5 (5 x 4 = 20); a 2 for Criterion 3 which has a value of 3 (3 x 2 = 6); and a 3 for Criterion 4 which has a value of 1 (1 x 3 = 3). The total score for Vendor C is 59 (30 + 20 + 6 + 3 = 59). Vendor A scored 58, Vendor B scored 49, and Vendor D scored 55.
SOURCE:
BA:010
SOURCE:
Lewison, D.M. (1997). Retailing. (6th ed.) [pp. 426-428]. Upper Saddle River, NJ: Prentice-Hall.

 3.
A
$125,000. The net worth of a business is determined by subtracting the total amount the business owes (its liabilities) from the total value of its assets ($400,000 - $275,000 = $125,000).
SOURCE:
BA:014
SOURCE:
MB LAP 9—Nature of Accounting

 4.
B
$18,260. The assets of a business include cash, accounts receivable, inventory, and equipment. In order to determine the assets, add those four figures ($4,000 + $2,300 + $8,460 + $3,500 = $18,260). Long-term debt is a liability because the business owes that money. Long-term debt ($12,850) is not included in assets.
SOURCE:
BA:014
SOURCE:
MB LAP 9—Nature of Accounting

 5.
B
$2,645. The total of the returned items and allowances given should be subtracted from the gross sales. Thus, in this problem, net sales = gross sales - (returns + allowances). To calculate net sales, first determine the dollar amount of returned items and allowances ($20 x 6 = $120; $3 x 5 = $15; $120 + $15 = $135). Then, subtract that amount from gross sales ($2,780 - $135 = $2,645).
SOURCE:
BA:015
SOURCE:
MA LAP 53—Calculating Net Sales

 6.
C
$262,250. To determine net sales, subtract returns and allowances from gross sales. In this example, $275,000 - $12,750 = $262,250 in net sales. New purchases have no effect on net sales.
SOURCE:
BA:015
SOURCE:
MA LAP 53—Calculating Net Sales

 7.
A
$625. Cash flow is calculated by subtracting total cash paid out from total cash receipts. Total cash receipts include cash sales and receivables ($5,300 + $1,200 = $6,500). Total cash paid out includes cost of goods sold, fixed expenses, and variable expenses ($1,750 + $2,150 + $1,975 = $5,875). Subtract total cash paid out from total cash receipts to determine cash flow ($6,500 - $5,875 = $625).
SOURCE:
BA:016
SOURCE:
MN LAP 60—Cash Flow

 8.
D
$12,750. Cash flow is the movement of funds into and out of a business. It is calculated by subtracting total cash paid out from total cash receipts. A business's assets, unless sold for cash during the month, are not part of cash flow. In this example, subtract total cash paid out from total cash receipts to determine cash flow ($41,250 - $28,500 = $12,750).
SOURCE:
BA:016
SOURCE:
MN LAP 60—Cash Flow

 9.
A
$17,785. A business's balance sheet shows the business's financial condition at a certain point in time. It includes all assets, liabilities, and the owner's equity. Total liabilities, the debts the business owes, include items such as accounts payable, interest payable, taxes, and long-term notes such as mortgages. Total liabilities do not include cash or machinery and equipment which are considered assets. To calculate the business's total liabilities, add the figures for accounts payable, taxes, and interest payable ($12,560 + $2,200 + $3,025 = $17,785).
SOURCE:
BA:018
SOURCE:
Longenecker, J.G., Moore, C.W., & Petty, J.W. (2000). Small business management: An entrepreneurial emphasis (11th ed.) [pp. 211-213]. Cincinnati: South-Western College.

10.
D
$11,000 profit. A business's income statement, or profit-and-loss statement, indicates the amount of profit or loss over a period of time which is usually one year. The basic formula to determine profit or loss is sales minus expenses. In this case, total sales equals $450,000. From that figure, deduct the cost of goods sold to determine gross profit ($450,000 - $180,000 = $270,000). Subtract operating expenses from gross profit to determine earnings before taxes ($270,000 - $245,000 = $25,000). Then, subtract taxes due to determine net income or loss ($25,000 - $14,000 = $11,000 net profit).
SOURCE:
BA:020
SOURCE:
MN LAP 61—Profit-and-Loss Statements

11.
B
$260,200. A profit-and-loss statement is a business's financial picture that lists all revenues and expenses for a certain time period. One component of a profit-and-loss statement is gross profit, which is the money left after the cost of goods expense is subtracted from total income. To calculate gross profit, subtract cost of goods sold from revenue ($640,400 - $380,200 = $260,200). A business determines its net income by subtracting operating expenses from gross profit.
SOURCE:
BA:020
SOURCE:
MN LAP 61—Profit-and-Loss Statements

12.
B
$456,103. Budgets chart how businesses plan to spend estimated revenue. A budget is a business's financial map that estimates the expected income from the sales of the business's goods and services as well as expected expenses. If a business plans to spend 38% of sales on salaries and wages and 24% on other expenses, combine the percentages and multiply that figure by the estimated sales to determine the total amount to budget for expenses (38% + 24% = 62%; $735,650 x 62% or .62 = $456,103).
SOURCE:
BA:024
SOURCE:
FI LAP 3—Money Tracks (Nature of Budgets)

13.
D
$1,755.67. Spreadsheets are computer software programs and are used to save, sort, and update information. Formulas are programmed into the software that can automatically calculate numerical data such as the average for a set of numbers. Businesses often use spreadsheets to record, manage, and analyze a variety of financial, sales, and inventory information. To calculate the average sales per month, first add the totals for each month ($1,250 + $1,100 + $1,800 + $2,350 + $2,110 + $1,924 = $10,534). Then, divide that total by six ($10,534 ÷ 6 = $1,755.666 or $1,755.67).
SOURCE:
BA:034
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (p. 15). 
Cincinnati: South-Western Educational.

14.
C
$50,000. Investing in another company is a speculative risk because there is a chance of loss, no change, or gain. When a business owner takes a speculative risk, there is always the possibility of failure. Investing $50,000 in another company represents a speculative risk because the other company may go out of business. If that happens, the business owner loses the investment which is $50,000. Business owners take the risk of investing in other companies because they hope to earn a profit. If the other business is successful and continues to pay dividends to investors, the investors gain rather than lose.
SOURCE:
BA:037
SOURCE:
Longenecker, J.G., Moore, C.W., & Petty, J.W. (2003). Small business management: An entrepreneurial emphasis (12th ed.) [pp. 609-610]. Cincinnati: Thomson/South-Western.

15.
B
$22,500. In order to calculate the yearly premium, first determine the number of increments of $50,000 by dividing that figure into the total value of the equipment and property ($1,250,000 ÷ $50,000 = 25). Multiply the monthly rate by the number of increments to determine the monthly premium ($75 x 25 = $1,875). Then, multiply the monthly premium by 12 to calculate the total premium for the year ($1,875 x 12 = $22,500). 
SOURCE:
BA:039
SOURCE:
CCH Inc. (n.d.). How much insurance do you need? Business Owner's Toolkit. Retrieved October 14, 2005, from http://www.toolkit.cch.com/text/p04_8185.asp

16.
A
$164,750. Businesses usually obtain property insurance to protect them from damage due to natural disasters such as tornadoes. Most insurance policies specify that the insurance company will pay for all or a portion of the damage less the deductible which is the amount that the business agrees to pay for any damage that may occur. When a business files an insurance claim, it expects to receive a settlement for the agreed upon amount minus the deductible. In this situation, the total damage is $175,000 and the insurance company will pay 95% of that amount ($175,000 x 95% or .95 = $166,250). However, there is a $1,500 deductible which must be subtracted from the settlement ($166,250 - $1,500 = $164,750).
SOURCE:
BA:040
SOURCE:
CCH Inc. (n.d.) Insuring your office and equipment. Business Owner's Toolkit. Retrieved October 14, 2005, from http://www.toolkit.cch.com/text/P04_8100.asp

17.
B
$21,600. Businesses are required to withhold federal income tax and state income tax from each employee's wages, and report and pay the taxes to the appropriate government agency. To calculate the amount the business should withhold and pay for income tax, first determine the total monthly salary for the four employees ($3,000 x 4 = $12,000), and then the yearly salary for the four employees ($12,000 x 12 = $144,000). The business must deduct and pay 15% of that amount in federal and state income tax ($144,000 x 15% or .15 = $21,600).
SOURCE:
BA:060
SOURCE:
Everard, K.E., & Burrow, J.L. (2001). Business principles and management (11th ed.) 
[p. 391]. Cincinnati: South-Western.

18.
D
$94.20. The gross amount due on an invoice is the total due before shipping charges are added or discounts are deducted. In this case, $94.20 is the gross amount due. Shipping charges are added to the gross amount due to arrive at the total net amount of $100.95 ($94.20 + $6.75 = $100.95). Then, the discount is deducted from the total net amount to arrive at the total after discount of $96.25 ($100.95 - $4.70 = $96.25).
SOURCE:
DS:030
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (pp. 71-73). Cincinnati: South-Western Educational.
19. A
$2,230.92. The math for this calculation is as follows:
	Item No.
	Quantity
	Description
	Unit
	Unit Cost
	Total

	VR101
	6
	Men's winter scarves
	doz
	$30.00
	$180.00

	DS259
	15
	Leather coats
	each
	$120.00
	$1,800.00

	GH962
	2
	Valet stands
	each
	$36.00
	$72.00


	Total Amount
	Tax
	Shipping Charge
	Total Invoice

	$2,052.00
	$123.12
	$55.80
	$2,230.92


SOURCE:
DS:030
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2002). Marketing essentials (3rd ed.) 
[pp. 288-290]. Woodland Hills, CA: Glencoe/McGraw-Hill.

20.
A
$3,787. Businesses usually negotiate for the most economical shipping method in order to save money on delivery charges. If the shipping charges are stated as FOB manufacturer, the business owns the goods during shipment and pays the shipping charges to move the goods from the manufacturer to its location. In this example, the shipping charges of $62 must be added to the price of the order to determine the total amount the business will pay ($3,725 + $62 = $3,787).
SOURCE:
DS:057
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (p. 86). 
Cincinnati: South-Western Educational.

21.
C
1 to 2. If the price of one product is $15.00 and another product is $30.00, they have a price ratio of 1 to 2 since one product has twice the value of the other product. If the price of each item were to double, they would still have the same price ratio. Whether a person bought the branded shirt or the unbranded shirt would be determined by the value of the item to the consumer. 15 to 30, 1/2, and 2 are not correct price ratios in this case.
SOURCE:
EC:006
SOURCE:
EC LAP 12—Price

22.
B
$15.00. The market price is the actual price that prevails in a market at any particular moment. Therefore, the current market price is $15 if that is the price the product is selling for today. The price minus the 10% discount was the market price last week. Businesses factor in the desired amount of profit when setting prices for products.
SOURCE:
EC:006
SOURCE:
EC LAP 12—Price

23.
C
$405,500. Gross profit is the amount of money that is left after the cost of goods is subtracted from the income from sales. In this situation, subtract the $375,000 cost of goods sold from sales of $780,500 ($780,500 - $375,000 = $405,500). The salaries of salespeople are operating expenses and are not used to determine gross profit.
SOURCE:
EC:010
SOURCE:
EC LAP 2—Risk Rewarded

24.
B
29.2. Productivity is determined by dividing the outputs of the employee by the inputs. To determine Mary's productivity per hour, divide the total number of bags of groceries by the number of hours she worked (876 ÷ 30 = 29.2).
SOURCE:
EC:013
SOURCE:
EC LAP 18—Productivity

25.
C
$3,000. Productivity is the amount and the value of goods and services produced (outputs) from set amounts of resources (inputs). In this example, a business has sales of $150,000 (outputs). If it increases that output by 2% while its expenses (inputs) remain the same, the business can expect a $3,000 increase in total sales ($150,000 x 2% or .02 = $3,000).
SOURCE:
EC:013
SOURCE:
EC LAP 18—Productivity

26.
B
$2.50. Marginal cost is the change in cost involved in increasing or decreasing production. It is often used to calculate the extra cost of producing one more item. In this situation, total cost of operating the business is $25,000 before any widgets are produced. To determine the marginal cost of producing each additional widget, first calculate the change in total cost by subtracting the total cost before production from the total cost once production begins ($27,500 - $25,000 = $2,500). The change in total cost is $2,500 from zero production to producing 1,000 widgets. To calculate marginal cost, divide the change in total cost by the number of widgets products ($2,500 ÷ 1,000 = $2.50).
SOURCE:
EC:023
SOURCE:
Gottheil, F.M. (2002). Principles of economics (3rd ed.) [pp. 182-184]. 
Mason, OH: South-Western.

27.
B
$750. An increase in interest rates affects businesses by making it more expensive to borrow money for routine operating activities such as purchasing inventory. If a business borrowed $50,000 at 6% interest, it paid $3,000 in interest ($50,000 x 6% or .06 = $3,000). If it borrows $50,000 at 7.5% interest, it pays $3,750 in interest ($50,000 x 7.5% or .075 = $3,750). Subtract the previous interest from the current interest to determine how much more it costs the business to purchase inventory this year ($3,750 - $3,000 = $750).
SOURCE:
EC:043
SOURCE:
Wilson, J.H., & Clark, J.R. (1997). Economics (pp. 317-319). 
Cincinnati: South-Western Educational.

28.
A
103. The Consumer Price Index reports the average price of a market basket of goods. The beginning year of the index is the base year and the value number assigned to that year is 100 percent. The percent of increase in prices in succeeding years is added to 100 to determine the current price index. In this example, 2000 is the base year and has a value of 100. To calculate the price index number for 2001, divide the cost of the 2001 market basket by the cost of the 2000 market basket and multiply by 100 ($1,802.50 ÷ $1,750 = 1.03 x 100 = 103). The Consumer Price Index number for 2001 is 103, which indicates a 3% increase in the cost of the market basket over the 2000 cost.
SOURCE:
EC:044
SOURCE:
Gottheil, F.M. (1999). Principles of economics (2nd ed.) [p. 422]. 
Cincinnati: South-Western College.

29.
C
$808,045. A trade surplus is a favorable balance of trade in which a nation's exports are greater than its imports. A trade surplus increases the gross domestic product. Calculate a trade surplus by subtracting imports from net exports ($8,503,475 - $7,695,430 = $808,045). In this example, imports are less than net exports so a trade surplus of $808,045 exists.
SOURCE:
EC:017
SOURCE:
EC LAP 1—Gross Domestic Product

30.
A
$10.3 million. The output of all labor and capital within a country's boundaries is included in gross domestic product regardless of who owns those resources. Therefore, Honda production in Ohio ($3.5 million) is counted in U.S. GDP. Ford production in Mexico ($3.8 million) is counted in Mexico's GDP. Government purchases counted in GDP include wages paid to military personnel ($6.8 million) but not transfer payments such as Social Security benefits ($3.4 million). In this situation, the only figures counted in U.S. GDP are Honda production in Ohio and wages paid to military personnel ($3.5 million + $6.8 million = $10.3 million).
SOURCE:
EC:017
SOURCE:
EC LAP 1—Gross Domestic Product

31.
D
4.5%. The Consumer Price Index (CPI) measures the changes in price of specific goods and services used by the average household. The increase in price from month to month or from year to year indicates the level of inflation, which is the rise in prices. Inflation may be an economic problem if it increases rapidly. In order to calculate the rate of inflation based on CPI, subtract the CPI for 2001 from the CPI for 2002 (132.1 - 126.4 = 5.7). Divide the CPI increase by the 2001 CPI figure (5.7 ÷ 126.4 = .045). Then, multiply that figure by 100 to calculate the rate of inflation from 2001 to 2001 (.045 x 100 = 4.5%).
SOURCE:
EC:038
SOURCE:
McEachern, W.A. (1997). Economics: A contemporary introduction: Annotated instructor's edition (4th ed.) [pp. 162-163]. Cincinnati: South-Western College.

32.
B
3.94%. Unemployment is an economic problem that many countries face on a regular basis. The unemployment rate is an indication of a country's or a community's economic condition. If unemployment is low, a community's economy is usually strong; but if unemployment is high, the economy is probably weak. To calculate the unemployment rate, divide the number of unemployed by the number of people in the workforce (18,620 ÷ 472,350 = .0394 or 3.94%).
SOURCE:
EC:038
SOURCE:
O'Sullivan, A., & Sheffrin, S.M. (2003). Economics: Principles in action (pp. 334-335). 
Upper Saddle River, NJ: Prentice Hall.

33.
B
$19 billion. A trade deficit means that more goods and services are imported than exported. To calculate a nation's trade deficit, subtract exports from imports ($125 billion - $106 billion = $19 billion). A trade deficit decreases the gross domestic product (GDP), but GDP does not determine a trade deficit.
SOURCE:
EC:016
SOURCE:
EC LAP 4—Beyond US

34.
C
$4,382. The discount rate is the processing fee that a business pays for being able to accept credit cards. It includes all of the charges that a business pays for accepting a bank's credit card. Businesses usually negotiate with banks to obtain the lowest discount rate possible in order to save money. To calculate the amount a business owes the bank on monthly credit-card sales, multiply the amount of sales by the discount rate ($156,500 x 2.8% or .028 = $4,382). 
SOURCE:
FI:040
SOURCE:
CCH Inc. (n.d.). Shopping for the best rates. Business Owner's Toolkit. Retrieved 
October 14, 2005, from http://www.toolkit.cch.com/text/P06_2575.asp

35.
A
$171,850. Most businesses obtain financing to pay for the purchase of expensive equipment rather than use all of their available cash. In this situation, the business intends to make a 30% down payment and finance the remainder. To calculate the amount the business needs to finance, first determine the amount of the down payment by multiplying the purchase price by the down payment percent ($245,500 x 30% or .30 = $73,650). Then, subtract the down payment from the purchase price to determine the amount that will be financed ($245,500 - $73,650 = $171,850). 
SOURCE:
FI:043
SOURCE:
Longenecker, J.G., Moore, C.W., & Petty, J.W. (2003). Small business management: An entrepreneurial emphasis (12th ed.) [pp. 310-312]. Cincinnati: Thomson/South-Western.

36.
B
$26,016. When calculating start-up expenses, a new business owner should compute the amount of money needed to pay salaries for the first 90 days, or 12 weeks, because salaries are one of the largest business costs. In this case, the owner plans to hire three employees to work a 40-hour week at $14.40 an hour and two part-time employees to work a 20-hour week at $11 an hour. First, calculate the full-time employees by multiplying the hourly rate by 40 hours ($14.40 x 40 = $576). Then, multiply the weekly rate by the number of employees to determine the weekly salary ($576 x 3 = $1,728). Finally, multiply the weekly salary by 12 to determine the money needed to pay full-time salaries for 12 weeks ($1,728 x 12 = $20,736). To determine the part-time salaries, multiply the hourly rate by 20 hours ($11 x 20 = $220). Then, multiply the weekly rate by the number of employees to determine the weekly salary ($220 x 2 = $440). Finally, multiply the weekly salary by 12 to determine the money needed to pay part-time salaries for 12 weeks ($440 x 12 = $5,280). Combine the full-time salaries and the part-time salaries to determine the total amount of money needed to pay salaries for 12 weeks ($20,736 + $5,280 = $26,016).
SOURCE:
FI:036
SOURCE:
CCH Inc. (n.d.). The first 90 days. Business Owner's Toolkit. Retrieved October 17, 2005, from http://www.toolkit.cch.com/text/P01_2450.asp

37.
C
$38,475. New businesses need to calculate the amount of start-up money they will need in order to open and operate for a period of time before they begin to generate an income. The categories of costs include rent, furniture and supplies, utilities, working capital, and wages. Depending on the type of business, there may be other start-up costs involved. In this example, first calculate the amount need for three months' wages by multiplying the monthly figure by the number of months ($5,500 x 3 = $16,500). Then, add all the costs to determine the amount of start-up money that is needed ($5,400 + $3,750 + $825 + $12,000 + $16,500 = $38,475).
SOURCE:
FI:036
SOURCE:
AllBusiness.com. (n.d.). Estimating your startup costs. Retrieved October 17, 2005, from http://www.allbusiness.com/articles/StartingBusiness/661-25-1822.html

38.
A
$409,500. Businesses often maintain databases that contain valuable information about regular customers such as how often they buy and how much they spend. The marketers use this information to provide those customers with special offers and also to stock the types of products these customers buy regularly. To calculate the total amount the group in this example spends each month, first convert 78% of the 500 regular customers to a number by multiplying 500 by the percentage (500 x 78% or .78 = 390). Then, determine the amount each of the 390 customers spends per month by multiplying $350 by 3 ($350 x 3 = $1,050). Finally, multiply the monthly amount by the number of customers to calculate the amount this group spends each month ($1,050 x 390 = $409,500).
SOURCE:
IM:190
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2002). Marketing essentials (3rd ed.) 
[pp. 509-510]. Woodland Hills, CA: Glencoe/McGraw-Hill.

39.
B
3. Mode is the value or number that appears the most often. It is the response given by the most people. In this example, the most people (10) said that they ate pizza 3 times a week. Therefore, 3 is the number or value that appears the most often. The average, or mean, is 2.2, and the range is 4.
SOURCE:
IM:191
SOURCE:
Hair, J.F., Jr., Bush, R.P., & Ortinau, D.J. (2000). Marketing research: A practical approach for the new millennium (p. 526). Boston: Irwin/McGraw-Hill.

40.
C
2.7. Mean is the arithmetic average of a statistical sample. It is the most commonly used measure of central tendency. To calculate the mean, first multiply the number of customers by the times they visited a business each week (24 x 1 = 24; 31 x 2 = 62; 42 x 3 = 126; 21 x 4 = 84; 10 x 5 = 50). Then, add the number of customers to determine the total (24 + 31 + 42 + 21 + 10 = 128); and add the number of visits to determine the total (24 + 62 + 126 + 84 + 50 = 346). Divide the total number of visits by the total number of customers to determine the mean (346 ÷ 128 = 2.7). Therefore, 2.7 is the average number of times a customer visits the business each week.
SOURCE:
IM:191
SOURCE:
Hair, J.F., Jr., Bush, R.P., & Ortinau, D.J. (2000). Marketing research: A practical approach for the new millennium (p. 526). Boston: Irwin/McGraw-Hill.

41.
D
30%. Frequency tables are a type of graphic that researchers use to visually show the number of respondents who reacted to a question in a certain way. Frequency tables can be in the form of bar charts, line charts, and pie charts that indicate numbers and/or percentages of respondents who gave a certain answer to a specific question. In this example, 150 of the 500 respondents answered the question as "somewhat satisfied." In order to convert that figure to a percentage, divide the number of responses to the question by the total number of respondents (150 ÷ 500 = .30 or 30%). Therefore, 30% of all respondents said they were "somewhat satisfied."
SOURCE:
IM:192
SOURCE:
Hair, J.F., Jr., Bush, R.P., & Ortinau, D.J. (2000). Marketing research: A practical approach for the new millennium (pp. 522-525). Boston: Irwin/McGraw-Hill.

42.
C
1,775. When writing marketing reports, businesses often develop frequency charts that may be in the form of line charts, bar charts, pie charts, etc. These charts graphically display relevant information in a way that is easy to understand. The use of line charts in marketing reports often simplifies complicated information. In this example, many respondents indicated that quality was an issue. To determine that number of respondents, combine the two percentages (33% + 38% = 71%), and multiply the total number of respondents by that percentage (2,500 x 71% or .71 = 1,775).
SOURCE:
IM:192
SOURCE:
Hair, J.F., Jr., Bush, R.P., & Ortinau, D.J. (2000). Marketing research: A practical approach for the new millennium (pp. 522-524). Boston: Irwin/McGraw-Hill.

43.
B
$880,470. If the business expects an 8% increase in sales, the total forecast for the coming year is $880,470. In order to determine the total, multiply last year's sales by 8% to find the increase ($815,250 x 8% or .08 = $65,220). Then, add the amount of increase to last year's sales to calculate the forecast ($815,250 + $65,220 = $880,470). The amount of money the business will spend to remodel its offices does not have an effect on next year's sales forecast.
SOURCE:
IM:003
SOURCE:
IM LAP 3—Nature of Sales Forecasts

44.
D
$1,900,500. Businesses often hire additional salespeople to generate more sales. As a result, businesses increase their sales forecast. In this situation, the business added a fourth salesperson and estimated that each salesperson would sell 5% more than last year. To forecast total sales, first determine the amount that each salesperson is expected to sell by multiplying last year's sales by the percent of increase ($452,500 x 5% or .05 = $22,625). Add that amount to last year's sales ($452,500 + $22,625 = $475,125). Then, multiply that amount by the four salespeople to calculate the sales forecast for this year ($475,125 x 4 = $1,900,500).
SOURCE:
IM:003
SOURCE:
IM LAP 3—Nature of Sales Forecast

45.
A
$371,450.00. Since sales are expected to increase a total of 15% over the previous year's figure of $323,000, sales for the current year can be determined by computing 115% of $323,000. It is also possible to arrive at the correct answer by computing 15% of $323,000 ($48,450) and adding the two numbers ($323,000 + $48,450 = $371,450).
SOURCE:
IM:009
SOURCE:
IM LAP 4—Forecasting Sales

46.
D
$650,000. Businesses often develop marketing plans that are intended to attract more customers and lead to an increase in revenue. When preparing its marketing plan, a business develops specific objectives to follow that should be clear and measurable, such as increasing the number of customers by 8%. If a business attracts more customers, it probably will earn more income. To determine the amount of increase in this example, first determine the current level of sales by multiplying the amount each customer spends by the number of customers ($25,000 x 325 = $8,125,000). Then, multiply the number of current customers by the proposed increase and add that number to the current number (325 x 8% or .08 = 26; 325 + 26 = 351). Next, multiply the increased number of customers by the amount each spends ($25,000 x 351 = $8,775,000). Subtract the current amount of income from the projected amount of income to determine the amount of increase ($8,775,000 - $8,125,000 = $650,000).
SOURCE:
IM:198
SOURCE:
U.S. Small Business Administration, Online Women's Business Center. (n.d.). Marketing plan components: Marketing objectives and strategies. Retrieved October 17, 2005, from http://www.sba.gov/starting_business/marketing/marketingobj.html

47.
C
30. An important part of developing a project plan is determining how much time it will take to perform each task. Then, the business develops a schedule specifying the number of hours to spend on each task during each week of the project. If two people will be working on a project, they will each be able to contribute 40 hours a week for a total of 80 hours. In this example, the business has assigned each task a certain amount of time totaling 80 hours a week. In Week 3, Task 2 is allocated 10 hours and Task 4 is allocated 20 hours for a total of 30 hours (10 + 20 = 30).
SOURCE:
MN:153
SOURCE:
Loy, G. (n.d.). To do project plan. Retrieved October 4, 2005, from http://www.cc.gatech.edu/classes/cs3302_97_spring/projects/team2/project-plan.html

48.
C
Employee A. Businesses that offer flextime allow their employees to choose an 8-hour period during regularly scheduled hours. Some employees, such as Employee A, might decide to begin work at 7:00 a.m. in order to leave at 4:00 p.m. The advantage of flextime is that employees have the freedom to set their schedules to meet their needs. Employee B is working four 10-hour days, which is an example of a compressed workweek. Employee C is a part-time employee working four hours a day. Employee D is working a traditional 8-hour schedule from 8:00 a.m. to 5:00 p.m.
SOURCE:
MN:044
SOURCE:
DuBrin, A.J. (2003). Essentials of management (6th ed.) [pp. 209-211]. 
Mason, OH: South-Western.

49.
B
$52,668.75. Many businesses compensate salespeople by paying a guaranteed base salary plus some type of incentive such as a percentage of gross sales. The advantage of this type of system is that salespeople are rewarded in direct proportion to the amount of their total sales. In this example, a salesperson is guaranteed a base salary of $32,000 plus a 2.5% commission on gross sales. To determine the yearly compensation, first calculate the commission on gross sales ($826,750 x 2.5% or .025 = $20,668.75). Then, add the commission to base salary to determine total compensation ($32,000 + $20,688.75 = $52,668.75).
SOURCE:
MN:123
SOURCE:
Dessler, G. (2000). Human resource management (8th ed.) [pp. 451-452]. 
Upper Saddle River, NJ: Prentice Hall.

50.
C
Gross profit. Gross profit results from the subtraction of cost of goods sold from total revenue. In this case, $40,800 - $12,400 = $28,400 gross profit. Net profit results from subtracting operating expenses from the gross profit. Revenue is the money generated by a company through the sale of goods and services. Cost of goods sold is the money that a company pays for goods it sells or raw materials from which it makes goods to sell.
SOURCE:
MN:081
SOURCE:
MN LAP 57—Operating Expenses

51.
A
$160,300. Net profit is calculated by subtracting operating expenses and cost of goods sold from income. To determine net profit, first calculate gross profit by subtracting cost of goods sold from income ($675,500 - $305,200 = $370,300). Then, subtract operating expenses from the gross profit figure to calculate net profit ($370,300 - $210,000 = $160,300).
SOURCE:
MN:081
SOURCE:
MN LAP 57—Nature of Operating Expenses

52.
C
$35. Employees who have responsibility for buying office supplies and paying invoices are in a good position to help the business control expenses. If an employee receives an invoice offering a discount for paying within a certain period of time and takes advantage of the discount, the business will save money. In this situation, the business will save $35 because 2% of $1,750 is $35. Calculate the savings by multiplying the amount of the invoice by the percentage of discount ($1,750 x 2% or .02 = $35).
SOURCE:
MN:016
SOURCE:
MN LAP 56—Employee Role in Expense Control

53.
A
$450. If employees fail to check the expiration dates on cents-off coupons and give the discounts, they cost the business money. Employees should make sure that the coupons have not expired, and should not accept them if they have expired. This is an effective way for employees to help control expenses. In this example, an employee accepts 75 expired coupons worth 50 cents off each month for a total of $37.50 ($ .50 x 75 = $37.50). Multiply that amount by 12 months to determine the cost to the business over a period of one year ($37.50 x 12 = $450).
SOURCE:
MN:016
SOURCE:
MN LAP 56—Employee Role in Expense Control

54.
C
$600. Long-term service contracts are usually less expensive than short-term contracts. In this example, a one-year contract that costs $1,200 per year and can be renewed each year for a $100 increase will cost a business $3,900 over a three-year period ($1,200 + $1,300 + $1,400 = $3,900). On the other hand, a three-year contract costs a total of $3,300, which will save the business $600 ($3,900 - $3,300 = $600). However, before purchasing a long-term contract, a business should be sure that it intends to keep the equipment for that length of time.
SOURCE:
MN:159
SOURCE:
CCH Inc. (n.d.). Service contracts. Business Owner's Toolkit. Retrieved October 17, 2005, from http://www.toolkit.cch.com/text/P06_4488.asp

55.
A
Contract B. When considering service contracts, businesses need to calculate the total amount including the flat rate and the cost per copy. In many cases, the cost per copy makes a significant difference in the total cost of the contract. If a business wants the least expensive contract, it needs to calculate the total price of each contract. In this example, Contract B is the least expensive. To determine the price of that contract, first multiply the number of copies made each year by the cost per copy (12,000 x 1¢ or $.01 = $120). Then, add that amount to the flat rate ($700 + $120 = $820). This is the least expensive contract. Contract A is $840, Contract C is $860, and Contract D is $880.
SOURCE:
MN:159
SOURCE:
CCH Inc. (n.d.). Service contracts. Business Owner's Toolkit. Retrieved October 17, 2005, from http://www.toolkit.cch.com/text/P06_4488.asp

56.
B
$2,405. Businesses often expand and need more space. Also, rent often increases on a yearly basis. In this example, the business will be leasing additional space next year and will be paying more for the space. To calculate next year's monthly rent, first calculate the cost increase by multiplying the percent of increase by the current rate ($2.50 x 4% or .04 = $.10). Add the increase to the current rent ($2.50 + 
$.10 = $2.60). The business will lease an additional amount of space (800 + 125 = 925). Multiply next year's monthly rate by that amount of space to determine the monthly rent (925 x $2.60 = $2,405).
SOURCE:
MN:160
SOURCE:
CCH Inc. (n.d.). Lease provisions. Business Owner's Toolkit. Retrieved October 14, 2005, from http://www.toolkit.cch.com/text/P04_3010.asp

57.
B
$78,500. An operating budget predicts the amount of profit for a certain period of time, usually a year, based on estimated total expenses and sales. If a business owner expects total expenses of $42,500 for the coming year and wants to gross $36,000 in profit, the business needs sales of $78,500 ($42,500 + $36,000 = $78,500). If the business sells more than estimated, it will earn a greater profit. A business owner uses the operating budget to track expenses and sales throughout the year and makes changes, if necessary, in order to earn the desired amount of profit.
SOURCE:
MN:083
SOURCE:
DuBrin, A.J. (2003). Essentials of management (6th ed.) [pp. 421-423]. 
Mason, OH: South-Western.

58.
B
$35,625. An operating budget is an estimate of the business's finances for day-to-day operations. Operating budgets usually estimate the amount of sales and plan for expenses in order to determine the amount that will remain in gross profit. To determine the gross profit, first calculate the percentage of sales that the business plans to spend on expenses ($142,500 x 75% or .75 = $106,875). Then, subtract planned expenses from estimated sales to determine gross profit ($142,500 - $106,875 = $35,625).
SOURCE:
MN:083
SOURCE:
DuBrin, A.J. (2003). Essentials of management (6th ed.) [pp. 421-423]. 
Mason, OH: South-Western.

59.
A
$3,400. Businesses develop a cash flow budget, which is a forecast of expected cash receipts and necessary cash payments, in order to determine if they will have sufficient cash available for other purchases such as new equipment. In this situation, the business is forecasting cash receipts of $30,000 and income from investments of $1,150 for total cash of $31,150. The business must pay salaries of $15,500 and other operating expenses of $12,250 for total payments of $27,750. The difference between the expected cash and the necessary payments is the amount the business will be able to budget for other purchases ($31,150 - $27,750 = $3,400).
SOURCE:
MN:653
SOURCE:
Everard, K.E., & Burrow, J.L. (2001). Business principles and management (11th ed.) 
[pp. 396-397]. Cincinnati: South-Western.

60.
A
$1,425. Businesses compare the amounts budgeted for sales and expenses to the actual figures in order to determine if the business is performing as expected or if adjustments need to be made. In this example, the business's actual sales increased over the budgeted amount, but so did the percentage of revenue that was spent on expenses. To determine the increase in monthly income over what was budgeted, first calculate the amount of income in the original budget by multiplying the sales figure by the percent of expenses ($255,000 x 60% or .60 = $153,000). Then, subtract expenses from sales to determine the amount budgeted for income ($255,000 - $153,000 = $102,000). Next, calculate the amount of actual income by multiplying the actual sales by the percent of expenses ($295,500 x 65% or .65 = $192,075). Then, subtract expenses from sales to determine actual income ($295,500 - $192,075 = $103,425). The business budgeted $102,000 for income, but the actual amount was $103,425; therefore, the actual amount was $1,425 more than planned ($103,425 - $102,000 = $1,425).
SOURCE:
MN:063
SOURCE:
DuBrin, A.J. (2003). Essentials of management (6th ed.) [p. 421]. 
Mason, OH: South-Western.

61.
A
$3,651. Businesses compare the amounts budgeted for sales and expenses to the actual figures in order to determine if the business is performing as expected or if adjustments need to be made. In this example, the business's actual sales and expenses both increased. However, the increase in expenses was high enough that it resulted in a decrease in income from what was budgeted. To calculate the decrease in income, first calculate the budgeted income by multiplying the sales figure by the percent of expenses ($324,500 x 45% or .45 = $146,025). Then, subtract budgeted expenses from budgeted sales to determine budgeted income ($324,500 - $146,025 = $178,475). Next, calculate actual income by multiplying the sales figure by the percent of expenses ($336,200 x 48% or .48 = $161,376). Then, subtract actual expenses from actual sales to determine actual income ($336,200 - $161,376 = $174,824). Finally, subtract actual income from budgeted income to determine the amount that income decreased ($178,475 - $174,824 = $3,651).
SOURCE:
MN:063
SOURCE:
DuBrin, A.J. (2003). Essentials of management (6th ed.) [p. 421]. 
Mason, OH: South-Western.

62.
D
$425. Businesses are often able to control variable expenses by making changes in the types of supplies they purchase. For example, it may be less expensive to buy plain packing boxes rather than printed boxes. To determine the savings in this situation, first calculate how many hundreds there are in 10,000 by dividing 10,000 by 100 (10,000 ÷ 100 = 100). Then, multiply that number by the per hundred price for printed boxes ($26.75 x 100 = $2,675) and also by the per hundred price for plain boxes ($22.50 x 100 = $2,250). Subtract the cost of the plain boxes from the cost of the printed boxes to determine the amount of savings ($2,675 - $2,250 = $425).
SOURCE:
MN:059
SOURCE:
BizMove.com. (n.d.). How to reduce costs. Retrieved October 17, 2005, from http://www.bizmove.com/finance/m3k.htm

63.
D
$3,150. Many small businesses control expenses by hiring part-time employees at an hourly rate rather than salaried, full-time employees. The advantage to the business is the same number of employees working during a given time period but for less wages. To calculate the savings in this situation, first determine the payroll expense for one part-time employee by multiplying the number of hours worked each day by five days to find the number of hours worked each week (5 x 5 = 25). Then, multiply that number by the hourly rate to determine the weekly pay ($9.25 x 25 = $231.25). Multiply the weekly pay by 12 weeks ($231.25 x 12 = $2,775), and the 12-week total by the six part-time employees ($2,775 x 6 = $16,650). Calculate the full-time payroll by multiplying the weekly rate by 12 weeks ($550 x 12 = $6,600), and the 12-week total by three full-time employees ($6,600 x 3 = $19,800). Determine the savings by subtracting the part-time payroll from the full-time payroll ($19,800 - $16,650 = $3,150).
SOURCE:
MN:059
SOURCE:
BizMove.com. (n.d.). How to reduce costs. Retrieved October 17, 2005, from http://www.bizmove.com/finance/m3k.htm

64.
D
$8,125. Businesses often analyze the accounts receivable component of cash flow in order to find ways to speed up the flow of cash into the business. One way to encourage customers to pay quickly is to offer discounts. The discounts reduce the amount of revenue the business receives, but this disadvantage may be offset by the increase in cash flow. If a business with monthly sales of $325,000 offers a 2.5% discount for payment within 10 days and all customers take advantage of the discount, the business will lose $8,125 in revenue. To calculate this amount, multiply the amount of sales by the discount ($325,000 x 2.5% or .025 = $8,125).
SOURCE:
MN:099
SOURCE:
CCH Inc. (n.d.). Case study-cost of trade discounts. Business Owner's Toolkit. Retrieved October 17, 2005, from www.toolkit.cch.com/text/P06_4240.asp

65.
D
$2,975. The amounts a business owes its suppliers in the near future, such as 30 or 60 days, are purchases made on account, or accounts payable. Businesses can reduce the amount of cash outflow by increasing their accounts payable. Businesses will have more cash available for other uses if they do not need to pay cash for all their purchases. In this example, the business makes 65% of its purchases on account. To calculate the amount of cash purchases, first determine the accounts payable by multiplying the purchases by 65% ($8,500 x 65% or .65 = $5,525). Then, subtract the accounts payable from total purchases to calculate cash purchases ($8,500 - $5,525 = $2,975).
SOURCE:
MN:099
SOURCE:
CCH Inc. (n.d.). Analyzing your cash flow. Business Owner's Toolkit. Retrieved 
October 17, 2005, from http://www.toolkit.cch.com/text/P06_4200.asp

66.
A
38%. Debt ratio is one type of financial ratio that businesses calculate and analyze in order to determine the relationship between debt and assets. The formula for calculating debt ratio is total debt divided by total assets ($325,000 ÷ $850,000 = .382 or 38%). After calculating their debt ratio, businesses usually compare it to the industry average in order to determine if they have more or less debt than the average business in their industry. A business with a lower than average debt ratio has less financial risk than a business with a high debt ratio.
SOURCE:
MN:161
SOURCE:
Longenecker, J.G., Moore, C.W., & Petty, J.W. (2000). Small business management: 
An entrepreneurial emphasis (11th ed.) [p. 497]. Cincinnati: South-Western College.

67.
A
$20,000. In a profit-and-loss statement, gross profit is equal to net sales less cost of goods sold ($50,000 - $30,000 = $20,000). Net profit is equal to gross profit minus total operating expenses.
SOURCE:
MN:162
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (p. 235). 
Cincinnati: South-Western Educational.

68.
D
$6,660. Net sales for the month of $17,540, minus cost of goods sold of $6,950, equals a gross profit of $10,590 ($17,540 - $6,950 = $10,590). A gross profit of $10,590, minus operating expenses of $3,930, equals a net profit for the month of $6,660 ($10,590 - $3,930 = $6,660).
SOURCE:
MN:162
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (pp. 234-239). Cincinnati: South-Western Educational.

69.
A
Company A. Businesses often compare their sales-to-receivables ratios with industry standards in order to determine if they are collecting cash as quickly as others. If businesses find that they have low sales-to-receivables ratios, they might make adjustments to their collection procedures in order to receive payment in a more timely manner. To calculate Company A's sales-to-receivables ratio, divide sales by accounts receivable ($250,000 ÷ $20,000 = 12.5). This figure indicates that receivables turn over more than 12 times a year which means there is a shorter time between making the sale and collecting the cash.
SOURCE:
MN:069
SOURCE:
Edward Lowe Foundation (n.d.). How to analyze your business using financial ratios. Retrieved October 17, 2005, from http://edwardlowe.org/index.peer?page=main&storyid=6335

70.
D
5,600. One of the purposes of developing a business plan that includes monthly sales goals is to provide the company with a tool for tracking its progress. An effective business plan includes a way to measure performance on a regular basis rather than waiting until the end of the year to find out if the goals have been met. Many plans contain monthly sales goals for each salesperson that accumulate to a yearly total. To calculate the number of widgets each salesperson must sell in a year, first determine the total number of widgets that must be sold to achieve the business's yearly goal (1,400 x 12 = 16,800). Then, divide that figure by the three salespeople to calculate how many widgets each salesperson must sell (16,800 ÷ 3 = 5,600). The business can monitor each salesperson's monthly sales to determine if the salespeople are on track or need to increase sales in order to meet the yearly goal.
SOURCE:
MN:101
SOURCE:
CCH Inc. (n.d.). Tracking your progress. Business Owner's Toolkit. Retrieved 
October 17, 2005, from http://www.toolkit.cch.com/text/P02_2401.asp

71.
D
$35,000. The financial section of a business plan enables an entrepreneur to determine the amount of capital needed to operate the business until it starts to earn a profit. When preparing this section of the business plan, an entrepreneur determines the total amount needed to operate the business for a period of time as well as the amount that will be invested in the business. If expected investments are less than operating costs, the entrepreneur will need to obtain additional capital from other sources. In this example, the entrepreneur needs $150,000 and family members will invest 60% of that amount ($150,000 x 60% or .60 = $90,000). Subtract the investment from the total amount ($150,000 - $90,000 = $60,000). Then, subtract the amount that the entrepreneur will invest ($60,000 - $25,000 = $35,000). To operate the business for a period of three months, the entrepreneur will need to obtain $35,000 from outside sources.
SOURCE:
MN:102
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2006). Marketing essentials (pp. 748-751). 
New York: Glencoe/McGraw-Hill.

72.
A
$139. The cost-based method for setting prices involves calculating all of the costs and expenses associated with obtaining and selling the product. Then, the business adds to this figure the amount it wants to make in profit. The total is the final price to the consumer. In this example, add the cost of obtaining the product, the expenses involved, and the desired profit ($75 + $21 + $43 = $139).
SOURCE:
PI:018
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2002). Marketing essentials (3rd ed.) 
[pp. 467-468]. Woodland Hills, CA: Glencoe/McGraw-Hill.

73.
D
$60.00. Since the full amount of freight is paid by the seller, the business is only responsible for the cost of the item less the 20% trade discount. To obtain the discounted cost, first convert the percentage to a decimal by moving the decimal point two places to the left and dropping the percent sign (20% = .20). Then, multiply the discount rate by the list price to obtain the amount of the trade discount. Subtract the amount of the discount from the list price to determine the cost to the business. ($75.00 x .20 = $15.00; $75.00 - $15.00 = $60.00.)
SOURCE:
PI:019
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (pp. 82-86). Cincinnati: South-Western Educational.

74.
A
$74.97. The list price is multiplied by the percent of quantity discount to obtain the quantity discount, and this dollar amount is then subtracted from the list price. Remember to convert all percentages to a decimal by moving the decimal point two places to the left and dropping the percent sign ($98.00 x .10 = $9.80; $98.00 - $9.80 = $88.20). The percent of cash discount is then multiplied by the intermediate list price, and this dollar amount is subtracted to obtain the final product cost ($88.20 x .15 = $13.23; $88.20 - $13.23 = $74.97).
SOURCE:
PI:019
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (pp.  78-83). Cincinnati: South-Western Educational.

75.
B
$161,500. In order to determine total fixed costs, you must first classify the costs as fixed or variable. Fixed costs are costs that do not change with changes in sales volume. They include the mortgage payments, utilities, salary and wages, and insurance. Add these individual costs to determine total costs ($15,000 + $3,600 + $80,000 + $60,000 + $2,900 = $161,500). The remaining costs are variable costs.
SOURCE:
PI:006
SOURCE:
PI LAP 4—Calculating Break-Even

76.
D
$450,000. The break-even point in dollars is calculated by determining the break-even point in units and multiplying that figure by the selling price per unit. In this situation, first determine the variable-cost margin by subtracting the variable cost per unit from the unit selling price ($200 - $120 = $80). Next, divide the total fixed costs by the variable-cost margin ($180,000 ÷ $80 = 2,250 units). Multiply the number of units by the selling price per unit to obtain break-even point in dollars (2,250 x $200 = $450,000).
SOURCE:
PI:006
SOURCE:
PI LAP 4—Calculating Break-Even

77.
B
$388.81. In calculating invoice prices when chain discounts are involved, the first discount is based on the list price, the second on the remainder after deducting the first discount, and so on. To calculate the first discount, multiply the discount by the list price and subtract that amount from the price ($535 x 15% or .15 = $80.25; $535.00 - $80.25 = $454.75). Then, calculate the second discount on that amount ($454.75 x 10% or .10 = $45.475 or $45.48; $454.75 - $45.48 = $409.27). Then, calculate the third discount on that amount ($409.27 x 5% or .05 = $20.46; $409.27 - $20.46 = $388.81). 
SOURCE:
PI:022
SOURCE:
PU LAP 3—Merchandising-Related Discounts

78.
D
$391.50. In this situation, the business has been given a quantity discount of 10%, but the business does not qualify for the cash discount of 2% because it did not pay the bill within the specified 15 days. The business would, therefore, subtract the amount of the quantity discount and pay the remainder ($435.00 x 10% or .10 = $43.50; $435.00 - $43.50 = $391.50).
SOURCE:
PI:022
SOURCE:
PU LAP 3—Merchandising-Related Discounts

79.
B
$356,710. Promotional pricing strategies involve offering discounts on a temporary basis in order to stimulate sales or attract new customers. Money-off coupons are an example of a promotional pricing strategy because they lower the price of a product only for customers who receive the coupons. This pricing strategy costs a business money because it is selling products at a lower price. To calculate the cost to the business in this situation, multiply the number of coupons redeemed by the value of $5 (71,342 x $5 = $356,710).
SOURCE:
PI:023
SOURCE:
Churchill, G.A., Jr., & Peter, J.P. (1998). Marketing: Creating value for customers (2nd ed.) [pp. 345-347]. Boston: Irwin/McGraw-Hill.

80.
B
$337.50. Many businesses use a variety of geographic pricing strategies to adjust the base price of products. One type of geographic pricing is multiple-zone pricing, which involves charging different prices for shipping to different parts of the country. In this example, the price for shipping a product from New York to Los Angeles is $12.50 per $100 value ($10.00 + $2.50 = $12.50). Since the product costs $300, multiply the shipping cost per $100 value by 3 ($12.50 x 3 = $37.50). Add the shipping charge to the price of the product to determine the adjusted base price ($300.00 + $37.50 = $337.50).
SOURCE:
PI:024
SOURCE:
Churchill, G.A., Jr., & Peter, J.P. (1998). Marketing: Creating value for customers (2nd ed.) [pp. 352-354]. Boston: Irwin/McGraw-Hill.

81.
C
$5,960. FOB origin is a type of geographic pricing strategy that means that the buyer takes ownership of the product at the point of shipment and pays the shipping charges. The vendor is not responsible for transportation costs. In addition to negotiating shipping charges, businesses also negotiate terms that involve discounts for paying the bill within a certain amount of time. In this example, the terms are 2/15, net 30, which means that the business can take a 2% discount since it paid within 15 days. To calculate the discounted price, multiply the purchase price by the discount and subtract that amount from the original price ($5,750 x 2% or .02 = $115; $5,750 - $115 = $5,635). The business is paying the shipping charges that should be added to that figure to determine the total price that the business will pay ($5,635 + $325 = $5,960).
SOURCE:
PI:024
SOURCE:
Coyle, J.J., Bardi, E.J., & Novack, R.A. (2000). Transportation (5th ed.) [p. 315]. 
Cincinnati: South-Western College Publishing.

82.
C
$1,122. Airlines charging different customers different prices based on their age is an example of customer-segmented pricing. Many airlines offer different prices for the same service in order to appeal to a wide range of customers. Often these prices have restrictions but are designed to appeal to customers who have flexible travel schedules. To calculate the price for the family in the example, first complete the extensions for the three adults and two grandparents ($205 x 3 = $615; $174 x 2 = $348). Then, add the total prices for each category ($615 + $348 + $159 = $1,122).
SOURCE:
PI:025
SOURCE:
Kotler, P., & Armstrong, G. (1999). Principles of marketing (8th ed.) [p. 335]. 
Upper Saddle River, NJ: Prentice Hall.

83.
D
20%. Markup percentage is found by dividing the dollar markup by the selling price. The dollar markup is found by subtracting the cost of the item from the selling price ($58.00 - $46.40 = $11.60). The dollar markup is then divided by the selling price ($11.60 ÷ $58.00 = .20). The decimal is converted into a percentage by moving the decimal point two places to the right and adding a percent sign (.20 = 20%).
SOURCE:
PI:007
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (pp. 104-105). Cincinnati: South-Western Educational.

84.
B
$910. Promotional pricing is a type of psychological pricing intended to appeal to customers and increase sales. In this situation, a cruise line is offering a promotional price on a four-night cruise to increase sales. The main appeal is that the second passenger travels for half price which is $325 (650 ÷ 2 = $325). Also, the first passenger receives a 10% discount worth $65 ($650 x 10% or .10 = $65). Subtract the discount to determine the price for the first passenger ($650 - $65 = $585). Add the two prices to determine the combined price ($325 + $585 = $910).
SOURCE:
PI:005
SOURCE:
PI LAP 1—Psychological Pricing

85.
D
$32.30. In order to calculate the markdown price, first multiply the current price by the percent of markdown to determine the amount of markdown ($38.00 x 15% or .15 = $5.70). Then, subtract the amount of markdown from the current price ($38.00 - $5.70 = $32.30).
SOURCE:
PI:008
SOURCE:
Stull, W.A. (1999). Marketing and essential math skills: Teacher's edition (p. 108). 
Cincinnati: South-Western Educational.

86.
A
$487.50. Gross rating points (GRPs) is the percentage of people reached by a media vehicle multiplied by the frequency of exposure to the advertisement. The cost per GRP is calculated by dividing the total advertising expense by the number of gross rating points ($117,000 ÷ 240 = $487.50).
SOURCE:
PR:009
SOURCE:
PR LAP 6—Calculating Media Costs

87.
D
$264. Preferred position is newspaper or magazine space thought to attract the greatest audience attention. To determine the cost of such an ad, multiply the number of column inches by the rate per inch, then by the preferred position rate. Add the preferred position charge to the ad charge to obtain the total (20 x $12 = $240; 10% x $240 = $24; $240 + $24 = $264).
SOURCE:
PR:009
SOURCE:
PR LAP 6—Calculating Media Costs

88.
C
$80. The cost per thousand (CPM) is a quantitative measure of the cost efficiency of a media vehicle calculated by determining the cost per thousand of the total audience exposed to an advertising message. CPM is calculated by multiplying the cost of the advertisement by 1,000 and dividing the total by the number of viewers. In this case, multiply the $4,000 cost of the ad by 1,000 ($4,000 x 1,000 = $4,000,000), and divide the total by the 50,000 viewers ($4,000,000 ÷ 50,000 = $80). The cost to the business of reaching 1,000 viewers is $80.
SOURCE:
PR:010
SOURCE:
PR LAP 5—Selecting Advertising Media

89.
D
6. Frequency is defined as the average number of times a person in the target audience is exposed to an advertising message. Average frequency is determined by dividing the total number of exposures by the total number of people reached. In this example, 6,000 people were exposed to two television commercials for a total of 12,000 exposures (6,000 x 2 = 12,000), and 4,000 people were exposed to 12 magazine ads for a total of 48,000 exposures (4,000 x 12 = 48,000). Total the number of people reached (6,000 + 4,000 = 10,000) and the exposures (12,000 + 48,000 = 60,000). Divide the total number of exposures by the total number of people reached to determine frequency (60,000 ÷ 10,000 = 6).
SOURCE:
PR:010
SOURCE:
PR LAP 5—Selecting Advertising Media

90.
B
$3,500. The Marshall Company was billed for the 700 inches it ran multiplied by the contract rate of $95, and the company paid $66,500. Since the company only ran 700 inches instead of the estimated 1,000, it did not qualify for the $95 rate. The Marshall Company qualified for the $100 rate. The difference between the two rates is the short rate that the Marshall Company must pay. Owed: 700 inches @ $100 = $70,000; Paid: 700 inches @ $95 = $66,500; Short rate due: $3,500.
SOURCE:
PR:104
SOURCE:
Arens, W.F. (1999). Contemporary advertising (7th ed.) [p. 462]. Boston: Irwin/McGraw-Hill.

91.
D
$62,511.75. The percentage-of-sales method is one way that many businesses decide now much money to allocate to a promotional budget. This method is easy to use and relates directly to the business's sales. To determine the promotional budget for next year, first calculate projected sales based on an estimated 5% increase over the current year ($850,500 x 5% or .05 = $42,525; $850,500 + $42,525 = $893,025). Next year's sales are projected at $893,025 and the business will allocate 7% of that amount to promotional activities ($893,025 x 7% or .07 = $62,511.75).
SOURCE:
PR:098
SOURCE:
Kotler, P., & Armstrong, G. (1999). Principles of marketing (8th ed.) [pp. 432-433]. 
Upper Saddle River, NJ: Prentice Hall.

92.
A
$73,050. One type of promotional allowance is cooperative advertising which involves manufacturers providing funds to businesses to help pay for the business's advertising expenses. Many small, local businesses do not have sufficient funds to buy large amounts of advertising and rely on co-op programs for financial assistance. To determine the savings to a business if a manufacturer pays 60% of the newspaper and magazine advertising costs, multiply the value of the advertising by 60% ($43,500 + $78,250 = $121,750; $121,750 x 60% or .60 = $73,050). In this situation, the manufacturer pays $73,050 and the company pays $48,700, which is a considerable savings.
SOURCE:
PR:071
SOURCE:
Russell, J.T., & Lane, W.R. (1999). Kleppner's advertising procedure (14th ed.) 
[pp. 410-411]. Upper Saddle River, NJ: Prentice Hall.

93.
D
$116,325. Co-op advertising is a type of promotional allowance that benefits businesses by helping them to stretch their advertising budgets. Many small businesses do not have sufficient funds to buy large amounts of advertising and rely on co-op programs for financial assistance. The manufacturer also benefits because its product is promoted locally. To determine the savings to a business if a manufacturer pays 45% of the business's magazine advertising, multiply the value of the advertising by 45% ($258,500 x 45% or .45 = $116,325). In this situation, the manufacturer pays $116,325 and the business pays $142,175, which is a considerable savings.
SOURCE:
PR:071
SOURCE:
Russell, J.T., & Lane, W.R. (1999). Kleppner's advertising procedure (14th ed.) 
[pp. 410-411]. Upper Saddle River, NJ: Prentice Hall.

94.
D
$2,695. Businesses include specific activities in promotional plans in order to effectively reach the right target market. In many cases, businesses use a combination of activities such as radio, TV, newspaper, and magazine advertising. All of these have the potential of reaching a wide audience and promoting the business to the customers most likely to buy. To calculate the total cost, first determine the cost of three radio spots ($225 x 3 = $675), four newspaper ads ($85 x 4 = $340), and two magazine ads ($345 x 2 = $690). Then, add those costs to the cost of one TV ad ($990 + $675 + $340 + $690 = $2,695).
SOURCE:
PR:097
SOURCE:
CCH Inc. (n.d.). Case study-Joe's redhots. Business Owner's Toolkit. Retrieved 
October 17, 2005, from http://www.toolkit.cch.com/text/P03_7007.asp

95.
D
$3.40. To calculate the amount of sales tax on a $48.50 purchase, convert the percentage of sales tax to a decimal figure and multiply the total price by that decimal figure. In this case: $48.50 x 7% = $48.50 x .07 = $3.3950 = $3.40. Remember to round up when the third number following the decimal is five or greater.
SOURCE:
SE:116
SOURCE:
MA LAP 52—Calculating Miscellaneous Charges

96.
C
$74.47. In order to calculate the total due, first add together the cost of the purchases ($39.95 + $27.95 = $67.90). Determine the amount of sales tax by multiplying total cost by the tax rate ($67.90 x 6% or .06 = $4.074 or $4.07). Add the cost, tax, and shipping charge to determine the total due ($67.90 + $4.07 + $2.50 = $74.47).
SOURCE:
SE:116
SOURCE:
MA LAP 52—Calculating Miscellaneous Charges

97.
B
$313. In order to calculate the amount of COD charges, multiply the total cost of the goods by the percent charged for delivery ($15,650 x 2% or .02 = $313.). The total amount the customer owed would include purchase price, tax, and COD charge.
SOURCE:
SE:117
SOURCE:
MA LAP 46—Handling COD and Layaway Sales

98.
D
$62.00. First, calculate each of the items separately: 3.5 x $4.79 = $16.77, 1 item at $15.75, 4 x $5.59 = 22.36, 1 item at 3 for $10.00 ($10.00/3 = 3.333 rounded to next whole cent equals $3.34). Then, add the totals ($16.77 + $15.75 + $22.36 + $3.34 = $58.22). Multiply the subtotal, $58.22, by the tax rate of 6.5% ($58.22 x 6.5% or .065 = $3.78). Then, add the tax to the subtotal for the grand total of the order ($58.22 + $3.78 = $62.00).
SOURCE:
SE:117
SOURCE:
MA LAP 48—Completing Sales Checks

99.
D
$4,712.50. Businesses use profit quotas to encourage salespeople to be profit oriented rather than volume oriented. Profit quotas emphasize the sale of high-margin products. An example of a profit quota is paying a higher commission rate on high-margin products. Businesses reward salespeople for selling higher profit items by paying them a higher commission. In this example, calculate the total amount of commission by multiplying the amount of sales for each product by the appropriate commission rate ($46,850 x 5% or .05 = $2,342.50; $29,625 x 8% or .08 = $2,370.00). Then, add the two figures to determine total commission ($2,342.50 + $2,370.00 = $4,712.50).
SOURCE:
SE:864
SOURCE:
SE LAP 118—Sales Quotas

100.
B
West Territory. Sales reports often contain statistical information about projected sales for both the business and for specific territories. In many cases, each territory is expected to achieve a certain percentage of projected sales each month. By analyzing the sales reports, a business can determine which territories are producing as expected and which ones might have problems that need to be corrected. In this situation, West Territory sold $506,645 based on a quota of $520,250 which exceeds the 97% minimum. To calculate 97% of the quota, multiply the quota by the percentage ($520,250 x 97% or .97 = $504,642.50). West Territory exceeded that amount by $2,002.50 ($506,645.00 - $504,642.50 = $2,002.50).
SOURCE:
SE:056
SOURCE:
Churchill, G.A., Ford, N.M., Walker, O.C., Johnston, M.W., & Tanner, J.F. (2000). 
Sales force management (6th ed.) [pp. 520-527]. Boston: Irwin/McGraw-Hill.
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